CORREZIONE SISTEMI RISOLUBILI CON ARTIFICI

4)
x2+y2+22:11
Xy+Xxz+yz=-1
X-y+z=5

(x+y+ﬂ2—bw—2ﬁ—2ﬂzﬂl
Xy+xz+yz=-1
X—y+2=5

(x+y+zf—2@w+xz+ﬂ):ll
Xy+Xz+yz=-1
X—y+2=5

X+ +22—2'—1=1L X+ +22:9; X+y+z=143
(x+y+2)"=2:(-1)=1L (x+y+2) y
Xy+xz+yz=-1

X—y+2=5
X+y+z=3 X+y+z=-3
Xy+xz+yz=-1 Xy+xz+yz=-1
X—y+2=5 X—y+z=5
D-@f2y=-2 y=-1 D-Q3)[2y=-8 y=—4
@ <x+y+z=3 @D <x+y+z=-3
(2) |xy+xz+yz=-1 2 |xy+xz+yz=-1
y=-1 y=-4
X=1+2=3, x+z2=4 X—4+72=-3, x+z=1
—X+X2—-2=-1 X+z-x2=1 |-4x+xz-4z=-1 4x+4z-xz=1 4(x+z)-xz=1
y=-1 y=-4
X+z=4 x+z=1
4-xz=1 x2=3 4-xz2=1 x2=3
y=-1|[y=-1 t2—t+3=0 impossibile in R
x=1 X=3




5)

X—y+z=a
X-3y+2z+1=0
x2+22:2(y2+ﬂ
X=a+y-z
a+y-z-3y+2z+1=0
x2+22:2y2+2
X=a+y-z
—2y+z7=-1-4a;
x2+22=2y2+2

z=2y-1-a

z=2y-1-a

x2+22=2y2+2

x=a+y-z=a+y—(2y-1-a)=a+y-2y+l+a=2a+l-y

X=2a+1l-y
z=2y-1-a
(2a+1-y)’ +(2y-1-a)’ =2y?+2
X=2a+1l-y
z=2y-1-a
4a% 4 +y? +d4a—4day -2y +4y? M +a’ —4y—4day + 2a =2y’ 47
X=2a+1l-y
z=2y-1-a
3y? —8ay -6y +5a”+6a=0; 3y’ -2(4a+3)y+a(5a+6)=0
X=2a+1l-y
z=2y-1-a
y 4a+3++16a%+24a+9-15a>-18a 4a+3++/a?+6a+9
L2 3 3
4a8-a8 3a
4a+3t(a+3) [T 3 3 @
3 4a+3+a+3 b5a+6
3 3
y_5a+6
y=a :

[x=[2a+1-y=2a+1-a=[a+]]
[z=|2y-1-a=2a-1-a=[a—]

[x=]ea+1-y=2a+1-

5a+6

2y—1—a

5a+6 6a+3-5a-6 |a-3
3 3
10a+12-3-3a |7a+9
-l-a= =
3 3




6)

x2y+xy2=0

X+y+z=1

x> +y? 422 =2

xy(x+y)=0; x=0v y=0 vx+y=0

X+y+z=1

x> +y? 422 =2

x=0 y=0 X+y=0

X+y+z=1 vV iX+y+z=1 vV iX+y+z=1

x2+y2+22=2 x2+y2+22=2 x2+y2+22=2

x=0 y= X+y=0

y+z=1 v <Xx+z=1 v <qz=1

y2+22=2 x*+22=2 X2 +y?+1=2; x®+y?=1

x=0 y=0 X+y=0

y=1-z2 v {x=1-2 v 4z=1

@—zf+22:2 @—zf+22=2 (x+yf—2w=&;—bw=t>w=—ﬂ2

y=1-z v ex=1-2z v =—X
2 2 2 2 2 2 2

x=0 x=0 y=0 y=0 z=1 z=1

_1+43 y_l—J§ _1+43 X_l—J§ y—jz y——iz

2 2 2 2 2 2

z—liig z—lJM/§ z—liig z—lJr\/§ x——\—/Z x—l/z
2 2 2 2 2 2

Ricapitolando, le soluzioni sono le 6 terne:
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7)

X+y—-6z=0

x2 +y? +362% =56
Xyz =8

X+y=06z
Xy:% (z=0)

(x+ y)2 —2xy +362% =56

X+y=062
8
Xy =—
A
3622 20 1 3672 56
z
2 16 3 3
122° ——=56; 72z°-16=56z; 9z2°-2=7z;
Z
973 -7z-2=0
P@)=0
9 0 -7|-2
1 9 9 2
‘9 9 2 ‘ 0

(2-1)(92° +92+2)=0

12 2
oy ,_9%\BL-T2_ —9xJ9 —9:3 [ 18 3
’ 18 18 18 6 1
18 3
2 1
7 =—— 7=—
3 3
z=1 x+y:62=6-(—gj=—4 x+y=62=6-(—£]
X+y=62=6-1=6 3 3
8 8 8 8
8 8 === — === —
xy=>="_g Xy . 5 12 Xy . 1 24
z 1 - =
3 3
z=1 z=1 > 5 1 1
X=2| |sx=4 ZI=——|||z2=—= Z=—= Z=——
3 3 3 3
y:4 y:2 X =—6 X=2 X =—6 X=4
y=2 y=-6 y=4 y=-6




